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Sy

ay

U gt & forg URTYS THE P IR aeTid 82

(a) Tanedy

(b) IS

(¢ URT

d) Hifegm
Ans X A a

X B.b

X Cc

o D.d

Question ID : 2141273419
Status : Answered
Chosen Option : B

02 rafir B AR & fra SUEM @ HUTETEd U § AT Sl 87
(@ LVDT
(b) TS

© uffex
d) B

Ans o Ala
X B.b
X Cc
X D.d

Question ID : 2141273344
Status : Answered
Chosen Option: A




Q3

Optical fiber works on the principleof .
(a)  Polarization

(b) Refraction

(c)  Total internal reflection

(d) Diffraction

Ans X A a
K B.b
o C.cC
X D.d
Question ID : 2141273426
Status : Answered
Chosen Option : B
Q.4 i
frofifad & ¥ fagga &1 99y Tares iF-91 32
(a) EM
(b) TegHIHTH
(¢ didl
(d) =il
Ans X A a
X B.b
X Cc
« D.d
Question ID : 2141273435
Status : Answered
Chosen Option : D
Q.5

Ans

CAT 6 Had fpa-t & ¥ JeT e B JHhdl 87
(@) 10 Mbps d&

(b) 100 Mbps d&

() 1 Gbpsdd

(d) 10 Gbps d&

X Aa

X B.b

X C.c

o D.d

Question ID : 2141273438
Status : Answered
Chosen Option : B




Q.6

Ans

G feRIY® R1 3R R2 YHFIER ¥ JS §U LI TG R1 = 5000 + 10 0 3R

R2= 5000 + 15 Q &, T ¥9ged ARy BHT

(@ 2500x50
(b) 250070
(c) 2500+ 150Q
(d) 2500+ 250Q

X Aa
X B.b
X C.c
& D.d

Question ID : 2141273341
Status : Answered
Chosen Option : D

Q.7

Ans

Width of a 40 mil track on PCB is nearly .

(@) 1mm
(b) 2.5mm
(¢) Yainch
(d Yacm
o A a

X B.b

X Cc
X D.d

Question ID : 2141273382
Status : Answered
Chosen Option: A

Q.8

Ans

What is the fundamental frequency. of ripple at the output of a bridge rectifier

operating at 230V, 50 Hz supply?
(a) 25Hz

(b) S0Hz

(c) 100Hz

(d) 200Hz

X A a
X B.b
o« C.C
X D.d

Question ID : 2141273351
Status : Answered
Chosen Option: C




Q.9

Ans

Frofafed & ¥ uferear o 9aifte Iugad afumsT Hi9-8 87

(a) U YAEURDI DI HUA BT |

(b) TE ASeye aud ¥ uRad— ¥ 37qe faua & uRad= &1 3urd g
(¢ T8 AU i 399 & Yay el gRkad g

(d) T8 IUPUI AT {1 B Yl AH ¥ HPpear gl

X Aa

X B.b

K C.c

o D.d

Question ID : 2141273343
Status : Answered
Chosen Option : B

Q.10

Ans

fafafed @ ¥ H-w aveY, TxadE UaTRI gRm?
(@ 200 nm

(b) 500 nm

(¢) 1500 nm

(d) 3000 nm

X A a

& B.b

X Cc

X D.d

Question ID : 2141273368
Status : Answered
Chosen Option : D

Q.11

Ans

1 ko URRI® I T e & 1.2 Had BT waied 8iar ¢ | Rl &
3RUR dlecsl J1d B |

(@ 0.02V
b) 2V

(0 20V
(d) 1200V
X Aa

X B.b

o C.c

&< D.d

Question ID : 2141273356
Status : Answered
Chosen Option : D




Q12 g pT100 AIUHM Hdgd BT UARIY 32°F AIOHH TR 100 Q 3R -148°F

Ans

A W 60 Q §] SHB WRIY &1 A9 I[0Nd o1 817 ?
(@) 040/°C

(b) -040/°C

(© 020/°C

(d) -020/°C

o A a

X Bb

X Cc

X D.d

Question ID : 2141273418
Status : Not Answered
Chosen Option : --

Q.13

Ans

Which of the following circuit can convert sine wave to square wave?
(a) Rectifier

(b)  Schmitt Trigger

(c) Integrator

(d) Differentiator

X Aa

& B.b

X C.c

X D.d

Question ID : 2141273401
Status : Answered
Chosen Option: B

Y Profired ¥ § e ug SeRA

Ans

(@) BJT

(b) FET

() Thicol SAS
(d) TId SIS

KX Aa

X B.b

o C.C

X D.d

Question ID : 2141273388
Status : Answered
Chosen Option: C




Q.15

Ans

An Optocoupler is a device that provides
(a)  Amplification

(b) Coupling

(c) TIsolation

(d) Induction

X Aa
X B.b
o C.c
& D.d

between input and output.

Question ID : 2141273396
Status : Answered
Chosen Option: C

Q.16

Ans

Identify the symbol below.

(a) Enhancement type N channel MOSFET
(b) Enhancement type P channel MOSFET
(c) Depletion type N channel MOSFET

(d) Depletion type P channel MOSFET

X Aa
X B.b
w C.c
X D.d

Question ID : 2141273373
Status : Answered
Chosen Option: B

Q.17

Ans

SCR has

(a)  One junction

(b) Two junctions

(c)  Three semiconductor layers

(d) Four semiconductor layers

X Aa
X B.b
X C.c
& D.d

Question ID : 2141273408
Status : Answered
Chosen Option : D




Q18 Which one of the following power amplifier has the maximum efficiency?
(a) Class A
(b) ClassB
(c) Class AB
(d) ClassC

Ans X A a
X B.b
X C.c
o D.d

Question ID : 2141273348
Status : Answered
Chosen Option : D

" What serves as anode in a common dry cell?
(a)  Graphite electrode
(b)  Zinc container
(c) MnO; and Carbon
(d) Paste of NH4Cl and ZnCl;
Ans X A a
& B.b
X Cc
X D.d

Question ID : 2141273427
Status : Answered
Chosen Option : D

@20 qpp0 dieeo AR BT gRT Hfgad fhar sidr g

@ 30dB

(b) 33dB

(c) 60dB

(d) 90dB
Ans X A a

X B.b

o« C.C

X< D.d

Question ID : 2141273365
Status : Answered
Chosen Option: A




Q.21

Ans

What is the peak to peak voltage of 230 V, 50 Hz supply?
(a 230V

(by 325V

(c) 460V

(dy 650V

X Aa

& B.b

X Cc

X D.d

Question ID : 2141273358
Status : Answered
Chosen Option: C

Q.22

Ans

%ﬁ;@;ﬁgﬂﬁ&ﬁﬁmwwﬁoaﬁﬂ%mcm

(a)

(b) ﬂTﬁﬂT

@ ulRly®s

(@) SHFE H Y BIE T
o A a

X B.b

X Cc

X D.d

Question ID : 2141273434
Status : Answered
Chosen Option : D

Q.23

Ans

fFofeiad # & o1 U Ui oiae e o7
(@) sQL

(b) C

() UIay-

(d) §Irdr

o A a
& B.b
X Cc
X D.d

Question ID : 2141273440
Status : Answered
Chosen Option: C




Q.24

Ans

‘Which kind of filter circuit is shown below?

o
L,

(a) Low pass filter
(b) High pass filter
(c) Band pass filter L i |
(d) Band stop filter

[+]
[+]

X Aa
 B.b
X Cc
2 D.d

Question ID : 2141273378
Status : Answered
Chosen Option: C

Q.25

Ans

SR H&AT 1101111 DT YA SRHAS BRI
(@ 107

b) 111

© 110

d) 127

X Aa

& B.b

X C.c

X D.d

Question ID : 2141273362
Status : Answered
Chosen Option : B

Q.26

Ans

Tt op-amps BT 37Ye rawirelt H AUl yads &1 v FRuae v ¥
T ST 21 T g U F op-amps &I 3 I= UG B &
forg foman w1ran g1

(@ CMRR

(b) SsfowR

(€ ¥R

(d) SfIY=-U Al
o Aa

X B.b

X Cc

% D.d

Question ID : 2141273349
Status : Answered
Chosen Option: A




Q.27

Ans

50 MHz TR 10 mV A0 & f3T ST IUHR0T IUGad 82
(a) T MRA dlecHiex

(b) TOHCIRIID dlecHiex

() SHRPARDY

(d) dIedEA

KX Aa

X Bb

o C.C

X D.d

Question ID : 2141273370
Status : Answered
Chosen Option: A

Q.28

Ans

fFoferiad § @ o UIsH TR &1 YFT 8! 82

(@) 3oF
(b) DMA

(€ HHARCTd A idgsex

(d) ALU
X Aa
X B.b
o C.c
& D.d

Question ID : 2141273394
Status : Answered
Chosen Option: C

Q.29

Ans

TS Th fFer B
(@) JHUY

b) ™

() dSUN™

(d) dewwEm

X Aa

& B.b

X C.c

X D.d

Question ID : 2141273429
Status : Answered
Chosen Option: B




Q30 gf2 Prafied e e Ugrm & | 8 Ry BT 3R Jedt grT S fear

TR Hic fha1 gim?

@ 1KQ 2.5mA

(b) 2KQ 2.5mA 1KQ 2KQ
© 2K, 0.56 mA 5V —=

(d) 1Ko, 0.56 mA T R axa

Ans X A a
& B.b
X Cc
X D.d

Question ID : 2141273384
Status : Answered
Chosen Option: B

O3 ey am TR T ST TR, SRR B SaR e TR SR B 82
(@ Gl SoRE I EAY Ed 8l
(b) Tl SaRH IopH Y B B
(€ THICI o SaH o I IR 99 dade? SiduH SchbH 9199 gid 2
d) oY Hode: Sa¥H T IO 3R THICY o9 SawH IehH ad 8id ol
Ans  # Ala
X B.b
X C.c
X D.d

Question ID : 2141273402
Status : Answered
Chosen Option: A

Q.32 Wﬁm_%‘?
(a) faggd el ®I v=Rd HRAT
(b) Sl @I uRafdd T
(€ TifAE Sl & yuiRd der
(d) e H IAR-IGE B UG
Ans X A a
& Bb
X C.c
% D.d

Question ID : 2141273415
Status : Answered
Chosen Option : B




Q.33 .
fafRed dfhe sSRE Afdg AR Fda S ufiear___ gifl
HH SISTT C1=10 pF, C2=10 pF, C3=20 uF, C4=20 pF
C1 cz

(a) 60 pF | |
(b) 15 uF

() 1333 pF

A B
(d) 30pF c3 ca
Ans X A a
& B.b
X Cc
2 D.d

Question ID : 2141273377
Status : Answered
Chosen Option:.B

Q.34

(75)agras P (1010 0111)qes T S | HEX B OROMT ___ 1T
@ B2
b) FA
€ F2
d) AD
Ans X A a
X B.b
w C.C
X D.d

Question ID : 2141273390
Status : Answered
Chosen Option : D

O3 Crpfafed § Y S O gfF vET B Sded T8 B gddl 27
(a) LDR
(b) ThICI A8
(¢) CCD
(d) LED

Ans X A a
X B.b
X Cc
& D.d

Question ID : 2141273403
Status : Answered
Chosen Option: C




Ans

Q.36

e wimR & gl

(@) f
b) f
© f
d) 14

K A a
& B.b
X Cc
o D.d

Question ID : 2141273413
Status : Not Answered
Chosen Option.: --

Q.37

Ans

Ww%ﬁamaﬁmsﬂqﬁraﬁmqﬁ%ﬁmﬂammm
DI §7

(@) SiEparpy

) fredt draeR

() WWagH TATEeR
(d) ead TAAReR
K A a

X B.b

w C.C

X D.d

Question ID : 2141273416
Status : Answered
Chosen Option: B

Q.38

Ans

Prafafed 3 9 01 Soried e SR 27
(@ ASIC

(b) MMIC

() FPGA

(d) SRAM

X Aa

X B.b

«C.c

X D.d

Question ID : 2141273407
Status : Answered
Chosen Option: A




Q.39

Ans

LED @& fore FafaRad & O ou1 98 Al 82

(a) SIS H Ual g3 S U<l H uRafdd gidi 31

b) g AT Al-dlecdl & W1 SIS & V- A& BT UeRid ddl gl

(¢ s Yl &1 d'8 dRTd Wi $1 Iafold 3uil & ariaR gidl
gl

(d) g 3HP-HER Ylhe &l Udb YR g

P

W Aa
X B.b
X C.c
X D.d

Question ID : 2141273411
Status : Answered
Chosen Option : B

Q.40

Ans

USBHTOUI T &

(a) gHadd diRad g
(b) TFadd REmHg 59

© JFhada dRaass
(d) gHwgs Higd §9

o A a
X B.b
X C.c
X D.d

Question ID : 2141273406
Status : Answered
Chosen Option: A

Q.41

Ans

‘Which of the following will serve as a donor impurity in silicon?
(a) Boron

(b) Indium

(¢) Germanium

(d)  Antimony

X Aa

X B.b

X C.c
& D.d

Question ID : 2141273412
Status : Answered
Chosen Option: B




Q.42

Ans

400 mH TR& @ T4 25 Q Uiy aTell T Sied & 99d RRIG g
(@ 10s

(b) 6255

(c) 62.5ms

(d) 16 ms

X Aa

X B.b

X C.c

& D.d

Question ID : 2141273375
Status : Answered
Chosen Option : D

Q.43

Ans

Fufafad & T HH 91 gidafie aifre e 22
(a) ORTE

(b) XORTE

(©) NORTRE

(d) ANDTE

X Aa

X B.b

w C.c

X D.d

Question ID : 2141273432
Status : Answered
Chosen Option: C

Q.44

Ans

_ O & ge® i ORI G dE gl 8 |

(a) TITPI
(b) dig-dasig
CERIGECEIR)
d) A-gEDi
X Aa
& B.b
X C.c
X D.d

Question ID : 2141273428
Status : Answered
Chosen Option: C




Q.45

Ans

= gxift v wfde & afe 399e dieew 9els St 8, @ ST die Tl

fRRR @M
(@ I
(b) Iz
(© I
d) I-Iz

X Aa
X B.b
o C.cC
X D.d

Question ID : 2141273369
Status : Answered
Chosen Option: C

Q.46

Ans

Fafafea ¥ 9 oF-u1 fafir gee gaffie dig 82
(@) MOSFET

(b) BJT

() JFET

(d) Relay

o A a

X B.b

X Cc

X D.d

Question ID : 2141273379
Status : Answered
Chosen Option: A

W ik ¥ BRI B A o, T

Ans

-~

() dY BIF &I HF [T 51 9 |

(b) TS &He B &I Y fHar &1 9 |

© Ry el o oufeasad

d) TSIHc IR e R g1f aFl &t &3 T s U |

X Aa
& B.b
X C.c
X D.d

Question ID : 2141273398
Status : Answered
Chosen Option : B




Ans

Q.48

foffgaafde . FEUA S T
(@) Wat®

(b) HHIhcidh
() AIHdAP

VIN

(d) dIRH Sga®

T

KX A a
X B.b
o C.C
X D.d

Vﬂ uT

L

Question ID : 2141273436
Status : Answered
Chosen Option: C

Ans

foran i gear 22
@ TTL

(b) CMOS

() OPAMP

(d) LVDS

KX A a
X B.b
X Cc
& D.d

VY Ppfed § 3 g ToR P R, SRR SRR SRIYE & R wn

Question ID : 2141273437
Status : Answered
Chosen Option: C

Q.50

Ans

T R SCR & HAEH 8l o & 91c, 3P| Hagdhdl 3T B & q

TG 8H IR ORI WwT @ |
(a) Y HIC

(b) fR®E

(€ BicST®HE

d) dfRFTHE

X Aa

X B.b

w C.cC

¥ D.d

Question ID : 2141273350
Status : Not Answered
Chosen Option : --




31 1 g RereTe fdlar # IF 455 kHz © 1R 38 1100 kHz TR & fbar
T 8| T wiafe emgfy Ffafed o @ o 8t godt 82
(@) 1555 kHz
(b) 645 kHz
(©) 2010 kHz
(d) 455 kHz

Ans X A a
X B.b
w C.C
X< D.d

Question ID : 2141273367
Status : Not Answered
Chosen Option : --

Q.52

% 3TeRf OPAMP & AHa ¥ fRafefed & § o uet 181 82
(@) qfeT 3Fd gl

(b) FTYE HE AT

(© Y UfdareT 3iHd 31

(d) 3T3eYe UfaTer 3d 2|

Ans X A a

X B.b

X C.c

& D.d

Question ID : 2141273400
Status : Answered
Chosen Option : B

53 sl ufk=ie® o1 i@ ged fhdT aidT 87
(a) 048

(b) 812

@ 121

(d) 050

Ans .XA.a

X B.b

wC.c

X D.d

Question ID : 2141273425
Status : Answered
Chosen Option: C




Q.54

Ans

94, mﬁ”ﬁiﬁﬂﬁﬁ%%ﬁwmﬁﬁﬁwmﬂ
|

@ 9Q
(b) 9.45Q
(¢ 95Q
(d)y 9.55Q
KX A a

& B.b

X Cc

X D.d

Question ID : 2141273364
Status : Answered
Chosen Option : D

Q.55

Ans

T 10V DC UId Bl 4 O UfeRIYF 3R 3 H TR & T arat AR T
SITST I € | Rt SR & Hithe § oA aTel He ol g

@ 2A

(b) 25A

(© 3.33A

d) 143A

X Aa
& B.b
X C.c
X D.d

Question ID : 2141273422
Status : Not Answered
Chosen Option : --

Q.56

Ans

3y, f8fe Aedt- T & 10 v B I W2.5245 v 5T YR ueffd g

(@) 2.5245
(b)y 2.524
() 252
(d) 25

X Aa

X B.b
wC.c

X D.d

Question ID : 2141273345
Status : Not Answered
Chosen Option : --




Q37 fgferfad Wex § 10 v & B Wb 39 JaT B & Y R Uiy BT
a7 e gm?
(@) 200KQ
(b) 100 KQ
(€ 98KQ

100 pA
(dy 198 Ka 2000 O

—

Ans X A a
X B.b
w C.c
X D.d

Question ID : 2141273385
Status : Answered
Chosen Option: C

-

Q58 1 mH 3R 100 mH W-UR dlelt &l I3 BT URTND IRepd T gRTI?

(a 10mH
(b) 99 mH
(¢ 100 mH
(d) 101 mH

Ans # Ala
X B.b
X Cc
X D.d

Question ID : 2141273360
Status : Answered
Chosen Option : D

959 12 v DC O F HRUR TS T TH GUIRT W 12x10° € I 2, ¢ oz
H YeId St B TUMHT BT
@ 7.2
b) 7.2m)
(¢ 72m)
d 721

Ans X A a
& B.b
w C.cC
X D.d

Question ID : 2141273374
Status : Answered
Chosen Option: C




Q.60

Ans

DTH Haraff & ferg FafeRad # 8 s agf o' SuanT 8idr 82

(@) 14/12 GHz
(b) 6/4GHz
¢ 2/1GHz
(d) 42/40 GHz

—_

o A a
X B.b
X C.c
X D.d

Question ID : 2141273355
Status : Answered
Chosen Option : D

Q.61

Ans

PN junction acts as

(a) Current Controlled switch
(b)  Voltage Controlled switch
(c) Bidirectional switch

(d) Umdirectional switch

KX Aa
X B.b
X Cc
& D.d

Question ID : 2141273431
Status : Answered
Chosen Option: C

Q.62

Ans

fgfafad ufcRiy® Jead ST URIg . 8

(a) 6000
(b) 54Ka

© 1.8KQ V! mfn NVT
(d] 60 1.8 KQ .

o A a
& B.b
X Cc
X D.d

1.8 KQ

Question ID : 2141273383
Status : Answered
Chosen Option : D




0 Profafed § € SF gaH TR 31 @ud ST

Ans

(@ TTL
(b) CMOS
(c) LSTTL
(d) ECL

X Aa

& B.b

X C.c

X< D.d

Question ID : 2141273392
Status : Answered
Chosen Option: B

64 I yife A AT HeTRE | SfFAR R Y TR & SHgdfaed 1 W

Ans

o rar 82
(@ HIZHT
(b) TR

(€) Zoagidie®d
d) e

X Aa
X B.b
wC.c
X D.d

Question ID : 2141273417
Status : Answered
Chosen Option: C

Q.65

Ans

K-CT8Y YHIGHUd &) dIHH Yde=iear S fea- eidt 82
(@ -80° ¥ 100°C

(b)  0° ¥ 200°C

(€©) -200° ¥ 1260°C

d) 0°¥1750°C

X Aa

X B.b

o C.c

X D.d

Question ID : 2141273433
Status : Answered
Chosen Option : D




Q.66

Td GFI 37YE 0 BId &, T HMH-T Altold 71c 1 HTITYE U Bl 52
(@) ORTE

(b) XORTE

(© NORTE

(d) ANDTE

Ans X A a

X Bb

o C.c

X D.d

Question ID : 2141273371
Status : Answered
Chosen Option : B

67 fgfaftaa afhe & ‘xy' &1 74 1 82

@ 10

b) O p
(¢ 00 X
d) 11 v

Ans X A a
X B.b
X Cc
& D.d

Question ID : 2141273391
Status : Answered
Chosen Option: A

Q98 2 FOM TRl B, e WG a AN BT WA B ST 87
(8 AM

(b) DSB-SC

() SSB-SC

d) FM

Ans X A a

X B.b

wC.c

X D.d

Question ID : 2141273421
Status : Answered
Chosen Option : B




Q.69

Ans

4k . &1 e | faves il

(a) 1280 x 720
(b) 1920 x 1080
(c) 2560 x 1440
(d) 3840x 2160
X Aa

X B.b

X Cc

& D.d

Question ID : 2141273397
Status : Answered
Chosen Option : D

Ans

70 BT H 1 GHz A B aiTe e faraH grit?

(a8 10 mm
(b) 30 mm
() 100 mm
(d) 300 mm

X Aa
X B.b
X C.c
& D.d

Question ID : 2141273359
Status : Answered
Chosen Option: B

Q.71

Ans

Voltage gain of an Emitter follower 1s

(a) High
(b) Low
(c) Infinite
(d)  Unity
X Aa

X B.b

X Cc
o D.d

Question ID : 2141273387
Status : Answered
Chosen Option : B




Ans

(o) BT A T g
@ 100

(b) 090

© 0.99

d) 1.01

X Aa

X B.b

wC.c

X D.d

Q72 1o TifRER BTIT B 10 pA 3R BT PIC 1 mA & | TIREI BT 3(ehT

Question ID : 2141273366
Status : Answered
Chosen Option: C

Ans

a7 fafaied & 9 T ts 3 <fifaa gfaa g2

(@) BJT
(b) SCR
(¢) Triac

(d) Sudad Woft

KX A a
X B.b
X Cc
& D.d

Question ID : 2141273386
Status : Answered
Chosen Option : D

Ans

O e A TR A Tea BT % w U A e

(@ UU3sSY
b) Twd

(© UE

(d) ITad guft
KX A a

X B.b

X Cc

o D.d

Question ID : 2141273430
Status : Answered
Chosen Option: C




Q.75

Ans

s 99 @1 §€ FX &7 & 916 R4 URIUSE H HaTed Hie A1d PIerg?
A AIfSTT R1=4 Q, R2=15 0, R3=6 Q, R4=4 Q and V = 1.5V

@ 0.15A
(b) 0.09A
(©) 0.06A
(d) 030A

X Aa
o B.b
K C.c
2 D.d

R3 R4

L

frs

< T

Question ID 12141273372
Status : Not Answered
Chosen Option : --
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Q.80 cable is better for carrying high frequency compared to
cable.
(a)  Twisted pair; coaxial
(b)  Shielded twisted pair; coaxial
(c) Coaxial; shielded twisted pair
(d)  Coaxial; fiber optic
Ans X A a
X B.b
o C.c
& D.d
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(a) Linux
(b) RTOS
() BIOS
(d)  Unix

X Aa
X< B.b

w C.c
X D.d

Question ID : 2141273439
Status : Not Answered
Chosen Option : --

Ans

08 T T I eI R IR

(a) RAM 3Fgrdt gidt 8 Safds ROM g gldl B
(b) RAM BRI €It @ Siafs ROM FERA il B
(© RAM 3R ROM S gt 81 31

(d) RAM 3fR ROM ! 3gR gt B

KX A a
 B.b
X Cc
X< D.d

Question ID : 2141273352
Status : Answered
Chosen Option : B

Ans

8 ifehrest g & v ¥ fou T 2|

(a) ofcH fapla
(b) A AGRIIS
() I dlees arsd
(d) I AR
X Aa

X Bb

X Cc

o D.d

Question ID : 2141273347
Status : Answered
Chosen Option : B




Q90 Cfafed o ¥ o1 YUl &1 SHgdfaed 81 &I AT & fog Iuantt 82
@ SRTfes
(b) BlgwTEs HUad foe
(€ 3fad fser
(d) TS fae
Ans A a
X B.b
K C.c
X D.d

Question ID : 2141273414
Status : Answered
Chosen Option: A

Q9 e St &1 U wide diees 12 v 81 10 A BiC HaTed g9 R HIUT T
TS e 11.68 V UTI IS AdRe UfaRiY fd=T gm?

(@ 320

(b) 0320
(9 0.032a
(d) 0.00320

Ans X A a
X B.b
o C.C
X< D.d

Question ID : 2141273405
Status : Not Answered
Chosen Option : --

Q92 w32V, 5 AH TUT IS Fet 200 mA YEH & & B | T8 fha wHg 9%
B HT?

(@) 209
by 1feq
© 1f&a1dar
d) 1feTsde

Ans X A a
X B.b
o C.c
X< D.d

Question ID : 2141273404
Status : Not Answered
Chosen Option : --




Q.93 5 BTS 3R 1 kQ UfRIUS & RIS TS & 10 V BT 3R7-dlecs o T
21 TS I e B yared g
@ 10A
b) 10 mA
(6 9.3 mA
d) 93A
Ans X A a
X Bb
o C.c
X D.d

Question ID : 2141273361
Status : Answered
Chosen Option: C

Q.94 Example of non-volatile memory is

(a) EEPROM
(b) NAND Flash
(¢) MRAM

(d) All of above
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